SF0 145 i = X 15
T XATF 4 < #ETH EiREEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% A = * ® = # ®
e £ P DU —fti 6. 36 6.6 —| —| - —
LA D KI5 40 | L1|# 9.5 9.8% 4. 06 4.0  — —
BT EzeT 40 | LL|F 12F  15HE 5. o[: 50 | —
A EN=E l=353F: i1 —M 6.2t 9.4 —|  —| | —
EERLS O K
1 [EiE2 4 580 40 | 11| a3 19 o7 27 - —
2 kLo 40 | L1 oo.ofb 15k 3t 3.1 —|  —
A s P 1 X I —e TR 13 | | | —
RS DK
1)@3@309%%&@&%%*%%83@% 50 | L.1|d 1 21 2opp 29 | —
PR
2 RERLSOHI 50 | L1 toff 1sfE 13 13— —
HE f2 P 4 XU — 7.3 9.0 - - - -
LEREA o Kk
1 EEHMIFERHFTE SR 40 | L1fd 1o 1o 4.3 4.3 | —
2 EREELS O 40 | L1[% 9.6 11k 4. 3L: 4.3 — —
aTE [EiE 3 0 9 ZAm 50 | 1.1|d 1o 18 o 26 —| —
LIS O Hh 50 | L1|P 8. o 13 3.7 3.7 —|  —
AAE FER P X3 —l 6.4t 9.9 —|  —| —| —
LR DK
1 BEFEIKBRECEESETERBV [ 40 | L1|F 11 19§ 5.5 5.5  —|  —
2 hEE o i 40 | L1|% 9.gf 16E@ 5.2 5.2 — —
Shk 2 FA R AR —foe.gpi 13 | | | —
ERELAS O KR 50 | 11| 16fF 23F 23 23 - —
S5 RAF et 50 | L.1|F 13 15[@ .7l 3.7 —|  —
| M DEkEaR (=% 50 1.2 L8 LE¥E J:I:%F [ekii= - -
T L X
1 R —l 1o 18 - - - -
2 LEELIA DK




ST 145y i = X °H
T XATF 4 < #ETH EiREEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
B £ H (1) HE3E 2 4 FHnn 4 | Lifp o2 - - - - -
(2) EE2 4580 SN Hk 40 | L1|h 1e 21 lo@E 100 | —
(3)  LFEELASOHAY 40 | 1L.1|% 1 21 22 22— —
N [ 2 4 SRR 40 | 1.1|fP s 2o o7 27 | —
RS o i
1 RESE N 40 | L1 12 18 24 24 | —
2 kLo 40 | LU ufh o159 24 24 - —
iy FEIR PR P L X3 —l s R 14 | —| | —
RS DK
1 BEEPTERER,. FRICKRECEE 40 | LL[F 13F 204 22k 22 | —
FAIERA
2 ] RFAEKILAR & O B Hek 40 | Ll ook ot o1 - —
3 ERCEAA DR 40 | L1(F 1fF 18t 17 17 — —
g P P L X fgk —o 6ol 7.9 —  —| - —
EELIA 0 KR 40 | L1|F 8.8 10ff 3.8t 3.8 | —
x| i FE R b X 3 —| 6.9 9.4 — — — —
EESAORIE 40 | L1|f ot/ 14fl 2.6t 2.6 0 —| —
+= AT I 50 | 12| bk phiE M peE | —
A b AR X g
1 JRE A — g 17 | | | —
2 RSO KK 50 | 1.1[F 14Ej 23 29 22 | —
<| #i b X
1 SRR R — | BEHR | Ph¥E PR¥E phME RRYE - -
2 bRELSt R 50 | 11| beHH RRE HMH PRBE - —
T AR X
1 RO —l 9.9 120 | | - -
2 bRELS OISR
(1) REEREIRRE S EEE 50 | L1(h 220 27h e 27 - —
BB




SF0 145 i = X 3E
i KET A4 - HETH B G E
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
<| g (2)  EFLSh oK 50 | L.1|f 16 2044 3.8 3.8 @ —| @ —
Rk I 40 | L1|F 8. 7F 17Eﬁ 2. 8[: 2.8 —| -
Nl TS S fr P M X —l 7o 9.9 | —|  —|  —
EELIA 0 KR 50 | L1|F o 3[: 1360 2. 50 2.5  —  —
EL FE PR M X3 —# 8.5 9.2 | —| —| —
LFREIA D K 5
1? EiE 3 0 9 Bk CEEEM/MER |50 | L3[h 14 15 15h 15— —
s
2 EERLAOHIR 50 | L3|F 11ff 13F@ .08 3.00 —| —
AT [EEE e — | B | thEE bhue tt%ﬁr@tfﬂ% - -
T LR Ik 50 | L1 15 24— - - -
sNHk EEH T EEETE LR 50 | L1ff a7 22 10 10— —
ERCEASR D il 50 | L1|f 1o 17 4.5rpq 4.5 - —
| T ML Rk 40 | 11| kW LkWE LvE e | —
AT LR X 40 | Lo o200 | | o —
Yo H F PR b X 3 —hl st 11 |~ —|  —
LR DRI 40 | L1|f ol 15t 1o 100 | —
kEST AL
1 SRR — | BRER | bh¥E LhiE LhEE LR - -
2 LRI o HiE 50 1.1 tb¥g pb#E LbvE RREE - -
T A g
1]\515?2 AEREOCREATIEBEFME 0 | L1|R 14F 28 | - | —
VIS
2 ERCEA s 50 | LLl| 1 19 - - - -
L T#E fo P L X S —eE 8.9t 124 | | | —
EERLA O KIS 50 | L1|P 19 e o1 | —
1 fi P b X3 —loe. el 12 | - | -
LFREIA D K i
1 [EiE3 095/ Ry 50 | 1.1|f 15 19 24fp 24— —




ST 145y i = X 1H
T XATF 4 < #ETH EiREEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
U 2 BREELSOHUS 50 | L1 13 16id 4.6rm 4.6 —| -
Hil& T b Kk 50 | 1.2| k¥R WM HevE bW - —
TR KR - | —Wi2i27 - —
#rH EzeEn 50 | L1|f 1 13%E 3.0f 3.0 | —
MR Ege 40 | L1[P 8.5 8. 7E@ 2. 8[: 2.8 —| -
| it FH 1L X3 —|#l 5. 30 7.5 — — — —
RS DK 40 | 1.1 438.4[: o a3 o1y | —
7| @R 2 R i Xk —f#d 6. 5 9.9 — — — —
LERUA ORI 50 | L1 8.8+ I3 2.66 2.5 | —
rm Eeeis — | BRAR | PMY bk¥E bWy e | —
£F b X 50 | 11| fb¥H MW bRYE HME | —
A AR K
1 R —#E 9.3 14 - - - -
2 hEESA DX
(1)]/\5%5&-?%%%531@%%&@@%%@% 50 | L1 18 27# 284 25 0 —| —
(2) kst o g 50 | L1k 15 234 og5h 25 — —
Bl IR AL
1 SRR — | BRER | bh¥E LhiE LhEE LR - -
2 LRI o HiE 50 1.1 tb¥g pb#E LbvE RREE - -
T A g
1 B s K o2 19 | | | —
2 LR FKIR 50 | L1|F o 24 - - | —
T HEHK 2 L X3 —l 9.9 15 —| - - —
ERLLASR O X 50 | L1|# 18 24 — - — -
& FE EHiE3 095, RETHESEBRECFSE |50 | L1[H ¥ 8% 2 21 —| -
AL
EEELIA o il 50 | L1 12 15 2.9%E 2.9 | —
=8l (g 3 0 9 H#ik UEE K& BAETHE Y 40 L1|% 17 199 19 19 - -




SF0 145 i = X 5E
T XATF 4 < #ETH EiREEE
p| 7 TR aRe  E W % A e T Tk e | s [
% e = * ® = # ®
& B EEELIA o> iU 40 | 1L1|f 12 150k 8.8 8.8 —| —
At P X3 — e 11— - - -
LERLIA o Kt
1 [EHE3095/By 40 | 1L1|fP 7R 18F 20 20 | —
2 FEREAAh o Mgk 40 | 1.1 13 14 8.5 8.5  — —
BIF FEL ) 3 X 3 —peoropn o1 | | o —
ERRLISN O XI5
1 [FiE2 4 5H0nu 50 | L1|d 19 22 24 24 | —
2 LRELU o i 50 | L1|F 13 15K 3.0 .00 | —
2 R R X3 —toe.g 11 | —|  —| -
R O K IE
1 [EiE3095RECTEMGERST [40 | L4|F 16F 25F 26 28 —| —
FE I
2 LERLIS o s 40 | L4|f 13 15t 2o 22 | —
AR [k (A% 50 | L1| be#H phdE oM pkEE | —
AL X
1 A —fE 9.9 13 - - - -
2 RRES X
(1) FEHGEEFESRBD 50 | L1|h 19 24 3.4l 3.4 | —
(2)  ERELASoHIE 50 | 11| 16 18 3. 46 3.4 @ — —
A T L X3 —t e 9.9 | —|  —|  —
ERLLAS O K 40 | L1(% 12 18@ioe 15l —| —
i) AARE 2 P b — 7.5 12 — — — —
EEEANOTFS 40 | L1|F 10fF 17 2. 9%t 2.9 —| —
R R Hb Xk —f#t 4. 5iffi 8.1 - - - -
e NG 40 | L1|F 6.7 128 LTE 1.7 —| —
P <FH b Ok 50 1.1| Lb#8 bb#s phME bR - -
T LA X
1 AR —ff 9. 2 14 - - - -




SF0 145 i = X 6
T XATF 4 < #ETH EiREEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
7| FEFH 2 BRI DK
(1) EE2 4 5By 40 | L1 18 29+ 29 29 - —
(2)  LFELSOHRL 40 | L1|% 134 210 4.508 4.5 — —
PR fet P L DI —e oot 124 | - | —
EERLS O K
1 [EiE2 4 580 40 | 11| g 23dr o0 20 | —
2 kLo 40 | LU|foagh o ag o1 19 - —
i3 Ak PR P L X3 —l .88 6.7 | —|  —|  —
LERUA ORI 40 | L1478 109 8 8l | —
R4 = F Xtk —t oo 14 | —|  —| -
LRRLIA o Kk 40 | L1|F BE 13 6. 440 6.4  — —
GRS 2 H —l 5. 48 6.2 | —| —| —
EFRLIA O K
1 EiE2 4 58 HB0 50 | L1|F 19 231 12 12 — =
2 [EiE2 458 & 0 ERElOHER 40 | L1821 o2 o120 | —
3 LRELSt o 40 | L.1(% 8.2 11 558 5.5 2 —| @ —
it A X
1 BT e — | B | Lb¥E MR MR LLTE - -
2 LEEA 40 1.2 LE¥E LEWE bevE bR - -
LA b 40 | L1|F o1k o2 - - o —
HAFM i F 4 XK el —p#E 9. 1 18— — — —
EFRLA o I
1 REHEETRBRE 40 | L1|H 18 24 5.3P 53 —| -
2 LERLIS o s 40 | Lt 13 20th 5.3 5.3 | —
RAW E=eEn 40 | L1ffoeFo o8 | - | -
A £ — | BEAR | PLME k¥ Lbve b | —
REFH frd i L X Ja —e oot 100 |~ —|  —
ERRLISh O X8




SF0 145 i = X TH
T XATF 4 < #ETH BRI
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
O R&EFH 1 EE2 4 580 40 | L1|% 208 229 27 27 — —
2 _LEELA o M 40 | L1([F 14 6% 8. 1 8.1 0 — —
Gitis [EiE 3 0 9 F#B 40 | LA|poo1gd 17 2eh 260 | —
RELIS O 40 | L1|F 1fF 15 2.8t 2.8 | —
RN FE PR M X3 —#l 6. 880 8.5 —| —| —| —
EEUA ORI 40 | L1 toff 19 3 uEE 3.1 | —
fri FE% P XA —ft 1ot 13 | - | —
ERRLISh O KR
1 [EHE2 45800 40 | L1 17 204 25k 280 | —
2 LSO K 40 | L1|4 g 17 3 ot 3.0 —| —
A ) R —l 8. g 9.0 |  —|  —| —
LRELIA D RS
1/@309%%&&@;%55&%%}@%& 40 | L1|F 15fF 17 26 26 0 — -
HAL
2 FELS o 40 | L1|F 9.7 10fk 2.8t 2.8 | —
-~ HEK RSB FL R AR 50 | L1|F 18 21F 14El 4 | -
EEELIA o il 50 | L1 12 15 2.5 2.5 0 | —
FH AR AT L X I 50 | 11| bk phiE M peE | —
A b AR X g
1 G —f#t 8. Bl 11 - - - -
2 RSO KK 50 | L1 16F 21F 16 16 —| —
%[ B L R —l 6. 0t 8.9 |  —|  —|  —
LRELIA D RS
1 EEHMOGERHRAEESRI D HMOME] 40 | L1|F 1fF 13F 10 10 —| -
2 _ERCEAF R 40 | L1|% 1f 13%f 6.3%0 6.3  — -
S = [EREa AR
1 TR e — | BE#R | PRME LhVE LY kYR - -
2 hERLIA oo Mg 50 1.1| fb#8 be#y bhiE v - -
T P L R I 50 | 1.1 o 29 o = o =




SF0 145 i = X 8
T XATF 4 < #ETH EiREEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
B [RcE (s
1 BERRAM M — | BRER | IhMY HYE LR LY - -
2 EELS o 50 | 1.2 ¥ k¥ v R - —
LS 50 | L1|fo o o220 | | | —
A FE PR M X3 I - I I I
ERLEAS DK
1 E#E30 95BN 40 | L1|Poag 27 10 100 - —
2 RELEA o 40 | L1 14 20 10 10 — —
o = DEERIAES: 50 | 1.6 ib¥E bkYE LVE REME S | —
TR b A X
1 B R e —[#t 1of 11 — — — —
2 [Hi2 4 5|0 40 | L.6(F 20/ 26 31 31 | —
3 EE3 0 9ERHV 40 | L6[F 17 21F o25f 25 | —
4 EFRLASR O MR 40 | L6|F 14 1T@ 4.86 4.8 - —
| JCHT Eeei — | HeHR | k¥R bovE J:I:%F tb¥E - -
AR Mt T b 50 1.1| Lb#8 bbns pRYE bREE - -
T LA X
1 BRI —pil 8. 4l 10| — — — —
2 LRSS o XK
(1) FEMFEEFTEFERED 40 | L.1|d 1ef 22 24 24— —
(20 EELUS ORI 40 | L1 10 140 3.4 3.4 0 — —
= MR £ FH X —pE s o1 - | o —
ERLEAA D X I
1 BB RFrs BEETRE W 50 L1 20 289 27 27 - -
2 ELS o 50 | L1|P 18 25 23h 23 | —




